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Economics
Paper 11

AT
gyutent 11

Time Allowed : 75 Minutes] [Maximum Marks : 100

Note : This Paper contains Fifty (50) multiple choice questions, each question
carrying Two (2) marks. Attempt All questions.

AT : A1 TRAehd TR TR (50) SgUEREN U fooidl oTRd. e TRl g (2)

0 . W Y gredl.

1. In case of inferior good : 1. ‘T agq'=an aEda
(I) Income effect is negative. (1) 3Ioq= TRoMH /O 3T
(II) Substitution effect is positive. (II) Ja=ar 9o &= STl
(A) I is correct but not II (A) T SR w®g II &
(B) II is correct but not I (B) II WR WG I &
(C) Both I and II are correct (C) I sufor II <& SRR
(D) Both I and II are wrong (D) 1 afor II A& =

2. The negative slope of the | o gyt s HomeH® SR 71 e
indifference curve is due to the

. A
assumption of :
(A) transitivity (A) GehrHedT
(B) non-satiety (B) 3rqgwi
(C) Diminishing Marginal Rate of
¢ # (C) =eal dHM g <X
Substitution

(D) Diminishing Marginal Utility (D) st || SufTa

[P.T.O.



In case of Cobb-Douglas production
function, Q = AK* LP the marginal

productivity of labour is :
(A) B * average product of labour
(B) B * total product of labour

©) E * average product of labour

1
(D) E * total product of labour

If factors of production are close
substitutes in the process of
production then the isoquants

would be :

(A) Convex to the origin but steeper
(B) Convex to the origin but flatter
(C) Straight line

(D) L-shaped

(I) A monopolist practising first
degree price discrimination

produces efficient output.

(I1) Duopolist in Cournot model

produces inefficient output.
(A) I is correct but not II
(B) II is correct but not I
(C) Both I and II are correct
(D) Both I and II are wrong

3.
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Q = AK® LP o1 wig-sme® Scured
hod S S 3ded A ©

Tae 3Td :

(A) B * AfFHE TEH SAEA Hd

(B) B * HfHFE THU IURA &

1

(C) & * #fehia U] Scqe el

~

* offeRie TR IART el

B
1
D) ]

SR IcAIeATAT gfhdd IcdIed Teh

THUHTAT Sddd TIiat 3Tqdrd @

HH3IAIRT g%

(A) ARTEIERN afgdsw WG F@0
ST

(B) STRYEAMEN wfgesh W THE
SISRIG

(C) ez W@l
(D) L 3R

(1) w9 gHTOMen fhAaeE Lol HeigR
FIEATH IAed hidl.

(I1) feSfaerr=n HA=a FfaaHd
JTUNTHET STREGH IARA hd.

(A) I R g I =
(B) II sR W/ 1 &
(C) I sufor II Sl SR
(D) 1 =fr II <& 9%




Sylos-Libini model is a model of :
(A) Cartels

(B) Limit pricing

(C) Monopsony

(D) Non-collusive oligopoly

‘Value of aggregate excess demand

is identically zero’ is the :
(A) Samuelson’s law

(B) Arrow law

(C) Walra’s law

(D) Kaldor’s law

In the classical theory an increase
in marginal productivity of labour

leads to :

(A) Fall in real wage rate
(B) Rise in real wage rate
(C) Rise in money supply

(D) Fall in employment
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[ a)

AT -A™e gfaaq § I 9faae

AR

A) fowma fgso o9
(B) waier fhud

(C) Thhashi

(D) ST STCUSTI R

‘e srfafe wrTvie o eAfed:
=’ IHd ' o

(A) FgeTeren o o1

(B) = =M a1

(C) dfertren f=H 31

(D) wleetan | TR

T fagame sfFshi=n Scdeshddid

€ B Eleitd o6 gegd 3

(A) 9T AdIedd e

(B) dr<d dd-eld dIe
(C) UeTreN aSIE a6
(D) USRI =2

[P.T.O.



10.

11.

In a standard notation if
C =200 + 0.7Y, I = 400, G = 300
and tax rate (¢) = 0.30, then the
equilibrium level of income would

be approximately equal to :

(A) 3000

(B) 900

(C) 1800

(D) 1000

Hypothesis which states that

individuals save in young age and
dissave in the age of retirement is

known as :

(A) Life cycle hypothesis

(B) Permanent income hypothesis
(C) Relative income hypothesis
(D) Absolute income hypothesis
The square root rule states :

(A) demand for money increases
with cost of transactions

(B) demand for money decreases

with cost of transactions

(®)

demand for money remains

constant with cost of

transactions

(D) demand for money does not

depend on cost of transactions

10.

11.
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THITUIG S TaR s C = 200 + 0.7Y,
I = 400, G = 300 37Ul =T
() = 0.30, W THAA 3@ SdBI™H

Tae 8d
(A) 3000

(B) 900
(C) 1800
(D) 1000

qeul gIId oFekdl oa9d  ehidrd ATl

Y ST9e=d Shiard &l IRehedA a1

qEE AleEd SId :

(A) Stterersh IReredH

(B) &¥H 39+ GRehedHl

(C) 9rue 39 giehedH

(D) had I IR
T | & |

(A) TN AN SRR Eiele] daed
SiG

(B) 9=t ANTU SERR WEieRe] H2d
SiG|

(C) =it AN SRR Weiae] fer
Ted

(D) TeT=h AR SRR WHEeR STaeie
T




12.

13.

14.

If the currency-deposit ratio
(cu) = 0.2, reserve ratio (re) = 0.4,
the value of money multiplier is :

(A) 1.5

(B) 2.5

(C) 2

D) 4

In the long run :

(I)  Philips curve is vertical at the
natural rate of unemployment.

(II) Changes in money supply do

not influence employment.
(A)
(B)
C)
(D)

In the standard IS-LM model,
if unemployment
equilibrium, then :

I is true but not II
IT is true but not I
Both I and II are correct

Both I and II are wrong

occurs in

(I) Taxes must be reduced.
(ID)
(A)

Reserve ratio must be raised.

Statement I is correct and II is
wrong

(B) Statement I is wrong and II is

correct

(C) Both statements I and II are

correct

(D) Both statements I and II are

wrong

12.

13.

14.
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S FeH-3a UK (cu) = 0.2, T@ qE@iE

TUIRR (re) = 0.4 3T, T I9T= UM
I Toe 39d .

(A) 1.5
(B) 2.5
C) 2

D) 4
HEEAC G

() Trfawm g% sSUsmR=n J9fis
TRt fafases 19l

(II) TeT= REHTdiel Sealid ASHIRIER

oA 2Bd AL
(A) T SR WG 11 e
(B) II sk WG 1 =&
(C) I affor II SH& s’
(D) I smfor II SF& <%
o IS-LM Sfaamra SR stefeqasen

~

GHATATIEST  STHATT SIS 379d
qa¥

(I) T HH FO @ISR 3.

(II) @ TEie oI Gredul HAEvas
.

(A) fogm 1 s0eX Wy II =
(B) foum I =F WY II SR
(C) foam I efor II ST sReR
(D) faem 1 sufor II <&t 9%

[P.T.O.



15.

16.

“Incomes of the poor increase in an
economy such that the poor move

closer to the poverty line.”

Which of the following poverty

measures will show a decrease ?

(A) The head count ratio

(B) The poverty gap ratio

(C) Both the head count ratio and

the poverty gap

(D) Neither the head count ratio

nor the poverty gap

Industry is considered to be
important to agriculture in economic

development as :
(A) A source of raw material
(B) A reservoir of labour

(C) A source of savings for

investment

(D) A source of demand for

agricultural output

15.

16.
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“wErEn AdeEdd, MREET 3= 3TN

YR STedld bl T oileh <TRET 10

31f¥rer STeles STdTa.”

GreicTdeh! ShivTedl <TG HIIAMHES o2

foie ?
(A) oot TR
(B) <IfEd dwrerd IO

(C) foremordt TR smfor Sifig awmE
O

(D) Trarord Ui AR sfir <y
THEd O qO7 AR

anfefer fosRrar Ot &TETEl = &

Hgwqul AU Id HRO

(A) Teal HeT=l Hd TS

(B) #ffehi=n TEia 9a1 STHeAMes

(C) TAAUEh G seel |id STHAHeS

(D) It IUTRATETS! ATU=T Eid

TS




17.

18.

The predominant framework used in
the Second Five Year Plan of India

was based on :

(A) One sector model of the Harrod-

Domar type

(B) Sectoral model of the Feldman
type

(C) Multi-sector input-output model

(D) A linear programming model

involving  inter-temporal

optimization

The Kahn-Chenery social marginal
productivity investment criterion

involved :

(A) Maximization of the Social
Marginal Productivity (SMP) of

capital in all uses

(B) Minimization of the SMP of

capital in all uses

(C) Equalization of the SMP of

capital in different uses

(D) Investing capital up to a point
where the SMP of capital is

Zero

17.

18.
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ARAT=A SE-A1 T=aftieh S YA

MU Arhela YTeed  EIeiierdeh

FHIT JRAFER SERa B ?

(A) Te-emi= Th &5 Wiaa
(B) wesHTd &5t wiaeH

(C) wg-&=1a RI-Yal fear

(D) STia¥hITcTsh TSR FHIAT 3TEIel

ECIR IR RIS E R IR

NN A

HIEA-IA HHITSTR HHG SR

Tqaveh oMl @eiedesh! v

el GHEY Bkl ?

(A) Td YR STANHE IS
gratfes i\ ScaIeRdd
HHTATRTI

(B) Hd YhIT=AT STANTHE AiSaclr=a
gratfes i\ ScaIeRdd
IERIRIET]

(C) fafay yerr=a STERTHES WiSadr=n
HrHTTSToR TG ScdIgehd THHIHI

(D) wigad Taaue e fogudd s

SRR ECRIC TR I IS ERSIE

SAIGHAl I TR

[P.T.O.



19.

20.

In cost-benefit analysis, the higher
the rate of discount, the lower will
be the net present value (NPV) of
a project. At a certain rate of discount
the NPV will be zero. This rate of

discount is called the :

(A) External rate of return
(B) Internal rate of return
(C) Incremental rate of return
(D) Forward rate of return

In the Solow-Swan model of growth
without technical progress, the rate

of growth of national output is not

equal to :

(A) The rate of growth of population

(B) The rate of growth of capital
stock

(C) The rate of growth of
consumption

(D) The rate of growth of taxes

19.

20.
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FI-eY fovcaoond, e X STt

ST YohedTd fHede aaa™ ged hHl

TR, Tehl fafyTe @l eqERl e

STHM o I SR T A1 HE S0

JEicTush! 1 WU JEd 2
(A) 9T 9IATET T
(B) &faid oXamen €T
(C) dmerd TXamEr R

(D) 9ISl 9l <X

qifster 9l 9T SiAl-Se JreA

gfaamd, WSS IcAeH gEiEr X

EeiAdeh! HIv <UL AN TBUM

AR ?

(A) dmEE= g3t el

(B) wigael WA= g&I TR
(C) SUHNT= g5t TRt

(D) AT ggi ULt




21.

22.

Trade can act as an engine of growth

due to :

(A) Higher economies of scale
reaped by large scale production

for exports

(B) Lower availability of critical

imported capital and

intermediate goods made
possible by larger export

revenues

(C) Decreased efficiency in domestic
production due to opening up
of the economy to foreign

competition
(D) Lower level of skill formation

The Balanced Budget Multiplier

increases income by :

(A) Zero

(B) One

(C) The amount of the tax increase

(D) The amount of expenditure

increase

21.

22.
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SR IG5 SiA & YfHehT Wetierish!

IO HRUMes e ad ?

(A) Trafdteret Jecafiom IaeAm=n ey

o o

[HdH]

a1 eI BIdl

[ AN o~ ¢

siferer=an f7afa fHesehdiyes foreeh

(B)
iedal ST ST STdfig s
STl HHl B

(C) focelt Twdardt stefeazen Tl

ST ST ST I &

T B

(D) hiwre fftidr=n T =1 sraeaes

[ (al

A AT T A= fehd[H a1@

Hl ?
(A) I
(B) T
(C) X dE=A1 JHId

(D) @< R YN

[P.T.O.



23.

24.

25.

Distance of states’ estimated per
capita revenue from estimated per
capita revenue of Haryana is

referred to as :

(A) Fiscal Discipline

(B) Tax Efforts

(C) Fiscal capacity distance
(D) Per capita income distance

Tax expenditure in financial year

2010-11 is higher in respect of :
(A) Corporate income tax

(B) Personal income tax

(C) Excise duty

(D) Customs duty

The special Central Government
Securities issued to National Small

Saving Fund constitute a part of :

(A) External Debt of India

(B) Internal Debt of India

(C) Non-debt capital receipts of

centre

(D) Revenue receipts of centre

23.

24.

25.
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LRI R 2 e S R R F S ]

I TErE UsArd eI qXels

Tega™ 3T I S Hareal ad ?
(A) TSTehreg s

(B) X Igait 9IS

(C) TSThIYT &fwdl 3R

(D) TEE I AR

2010-11 =1 o= oia ko =

I Gt TeRH SR AR ?

(A) T 399

(B) o&fodsh 3= T
(C) 3T Yooh
(D) T Yok

&g T fav gfagfa Ui sted
s fefte fompd 3w sheren TET e
I TGl ?

(A) YRd TR faesh st

(B) YR HhIE Adiid hst

(C) g W=l faTR &5 areddl

STHT

(D) g TR Tegell

10



26.

27.

28.

Central Sales Tax is a state level

tax based on :

(A) Destination principle
(B) Origin principle

(C) Ability to pay principle
(D) Benefit principle

The distribution of Grants in
aid under Article 275 of the
constitution depends upon the
inter-se distribution of tax proceeds
under Article :

(A) 270

(B) 269(A)

(C) 271

(D) 268

of non-plan

Excess revenue

expenditure over revenue receipts is

referred to as :

(A) Trade Balance

(B) Balance from current revenue
(C) Primary Balance

(D) Fiscal Balance

26.

27.

28.
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TS =

[dshleh <n[UlcH]

TS Uidesl o hald

TER STHRd 318 ?
(A) TdeReH dw
(B) 3RUEIM a<
(C) T &HaT T

(D) oY I

TTEeT= hel 275 T3 HER—Th

TS “hetel A1ed @Teit faeredT shivwe

FHAGR TSA-TSATHES hY HEgATA

IR 3Taaed 3Td ?
(A) 270

(B) 269(A)

(C) 271

(D) 268

THeget STHUST AreHa Hegal! @ S
Tl deT I HE gdge S 2

(A) =UR Trecten

(B) Hegal @rcre’iel feete

(C) Wi gHare

(D) TSI THA

11

[P.T.O.



29.

30.

Export Pessimism is :

(A) The feeling that the developing
countries’ exports to developed
countries cannot grow rapidly
because of the latter’s increased

protectionism.
(B) The feeling that the developing
countries will always have

imports higher than exports.

The feeling that the rate of
growth of the developing
countries’ exports will always be
lower than the rate of growth
of their imports.

(®)

(D) The feeling that the developing
countries will always be

exporting primary products.

The Absolute Purchasing Power
Parity theory postulates that :

(A) The equilibrium exchange rate
between two currencies is equal
to the ratio of relative price
levels in the two nations.

(B) The equilibrium exchange rate

between two currencies is equal

to the ratio of the price levels

in the two nations.

(C) The equilibrium exchange rate
between two currencies is equal
to the ratio of price levels of

services in the two nations.

(D) The equilibrium exchange rate
between the two currencies is
equal to the ratio of factor prices

in the two nations.

30.
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~

(A) famgasiar <em=l fawfad S
B Trafa faefaa <vm=n areen
TEIUERHeS a1g ehd TRl

(B) 3130 YAl ki fashasiier Svmem
ararar frafdiaen Asd= S
YT,

(C) 3Wmft wraT i foeramsia Sem=
frafd g R @ AsHE A=
HAEME G UYL HH A

(D) AN 9o ki Toshemeie <31 JHg
Tt St fafd .

g e e guEar fagia o™
eFfId Hial i

(A) TH <M FeHrET gHdd faf e
T F TR I o fonma
qdesl T[ONgdeh] STHl.

(B) =erme g9die fafaa <t a1 §F

QuTel fondd dTrdedi=an T[UlRIgaeh

Tl

(C) TF Termigde gade fafma e
TRl qendia dar=ar feAq

TUNRIShT ST
(D) < e FHde o X w

I SISl H2eh fohua TuiRIgaeh

Tl

12



31.

32.

Export oriented industrialization :

(A) Overcomes the disadvantages
of smallness of the domestic

market

(B) Implies domestic industry

protection

(C) Implies imposing heavy export

duties

(D) Implies industrialization of

backward areas
Metzeler Paradox is :

(A) An exception to the Stopler-

Samuelson theorem

(B) An exception to the Leontif

paradox

(C) An exception to Mundell-

Fleming model

(D) An exception to Marshall-

Lerner condition
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31. frafafvyga sirirfem .

(A) 2IMNANT I SAT A-IH

SHRAMMes T Fom S T

L

(B) WUNT RN SENTAT T

(C) U Ser fafa & aey

(D) U™ HIME YR f=enor

HLO

32. Heer oy =uS

(A) LIIeR-GAAHT YHIATA TG

(B) fastFfew faisnamden qqare

(C) HSA-TIHT FfqHMT T9aTg

(D) ARTA-FR ST STaTg

13
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33.

34.

Freely floating exchange rate
system means :

(A) The flexible exchange rate
system under which the
exchange rate is always

determined by the market

forces.

(B) The exchange rate system
under which the exchange rate
is determined by the exporting

country.

(C) The exchange rate system
under which the exchange rate
is mutually determined by

trading countries.

(D) The flexible exchange rate
system under which the
exchange rate is always
determined by the relative

change in factor prices.

When a
depreciates :

(A)

country’s currency

The Country’s Exports and
Imports both will rise

(B) The Country’s Exports and

Imports both will fall

(C) The Country’s Exports will rise

and Imports will fall

(D) The Country’s Exports will fall

and Imports will rise

NOV -11211/11

33. HK W fafma U Heren wUS

34.

(A) oEodt fafia X =as &t =
e fafaa g Jert SR YedigRT

Sl b N

[HIREd <hcdl Slldl.

(B) ATt fafqma g sggTen #t
el fafa X fafaer <smgr

Sl b N

[HIREd <hcdl Sldl.

(C) o730 faf e <2 saeren =t <1 37avia
fafHa 27 MR FTOM 9 YA

Tfe=a .

AN N

(D) ogeAdt fofHa ST =geen i o
safd fafma U gl sesren
fRudia o= gorcds  aeeligR]

Sl N N

[HIREd <hcdl Slldl.

Siegl QM S ol HE B

(A) 2IM= A 9 fAafd 1=igl
e

(B) 23m=n 3mard 9 faata Sr=iel
Hede

(C) <=t frafd aeet @ ST D
R

(D) <ym=n fafa st BEd 9 ST
e

14



35.

36.

The ‘J’ curve effect is :

(A) Net worsening of country’s
trade balance resulting from a
depreciation.

(B) Deterioration before a net
improvement in a Country’s

trade balance resulting from a

depreciation.
(C) Fall in demand for exports.
(D) Improvement  before a

deterioration in a Country’s
trade balance resulting from a
fall in demand for exports.

Pertaining to India’s current Food
Policy, which of the following
statements are true ?

(1) It aims at averting of famines
by maintaining a buffer stock
of food grains.

(2) It ensures remunerative prices
for food grains.

3) It
production for more exports.

encourages surplus

(4) It aims at maintaining general
price level.

1, 2 and 4
1, 3 and 4
2 and 3
2 and 4

(A)
(B)
(®);
(D)

35.

36.
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‘S g% TR wuS
(A)

TTEE ST es QM= SR

ECIGIEK]

HEAEER= 9RO TUH AR
YURUATYS T 1 HEO ol

S
[

(C) Trafdiefar sTaum=n wria e

(B)

(D) frafa aridia =eige Iem=n

AR SR S0l girerelt
YR 3.

UrAardd gafad 1= enumersd

EcATcIdeh! kIO fIM Se 3Ted ?
(1) ST Teig 98 faor e
&hTes 2Tt A1 3 3R

(2) IT=ur=arE fRwrEayiy fead
THeoreard Rt @i g Aufa
R,

(3) otfafem saea fafa a3 ™

RN IASH QU Id.

(4) R forud drdesr frer Trae
STel 3™ 9 Sfee SR,

1,294

(A)
B) 1,3 94
(C) 2493

D) 294

[P.T.O.



37.

(@)

®)

(0)

(d)

38.

Match the following correctly and
choose the answer from the codes
given below :

NABARD (1) Financial Assis-
tance for ware-
housing

NCDC (2) Refinancing agri-
cultural credit

SCARDB (3) Interstate sale of
farm products

NAFED (4) Land development

Codes

@ b © @
(A) 2 1 4 3
(B) 1 2 3 4
©) 4 1 2 3
D) 3 2 4 1

What can you say about the
assertion (a) and reason (r) given
below :

Assertion (a) :

Non-performing Assets are a matter
of major concern to India’s Banking
Sector.

Reason (r) :

All banks have been focussing on
lending to large business houses in
recent times.

(A)
(B)
©)

(a) 1s correct but (r) is incorrect
(a) 1s incorrect but (r) is correct

Both (a) and (r) are correct and
(r) is the correct explanation

of (a)
Both (a) and (r) are correct but

(r) is not the correct explanation
of (a)

(D)

37.

(@)
®)

(c)

(d)

38.
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AT S Segal 0T SR SR
feciean e feen .

NABARD (1) 7EH™EE faxita e
NCDC (2)

HIS Heriet gAfS

T
SCARDB (3) & IcRAREN HR-
T fasmt
NAFED (4) 9-foee
gt
@ b)) (@ (@
@a 2 1 4 3
@ 1 2 3 4
© 4 1 2 3
™ 3 2 4 1

@il i fa4mM (o) 9 1RO () ATsiTeid
&l WU ?

™ (a) :

TRATIE sifehTT SrTalTer STehTierd HreTH=T
& Ot foa= s et

Ul (r) :

A= T Td skl aed SARNTR

n

&1 THe1gRaal HhIUAeR Ad-ohfsd hHid

1R,
(A) (¢) 99 3R 90 (r) JhiA R
(B) (a) A 38 90 (r) G 3R

(C) (@) F (r) T Tl 9 3Md 9 (r)
T (@) ¥ TR TR ™

D) (@) T (r) T S A A_d 9 (1)
T (@) 9 ST IR0 T
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39.

40.

41.

In the context of finance, what is
the correct meaning of the term
‘bear’ :

(A) A person who expects a rise in
price of a security.

(B) A person who is a non-voting
shareholder of a joint stock
company.

(C) A person who expects a fall in
price of a security.

(D) A person who wants to borrow
for purchasing shares and
bonds.

An artificial currency is denoted by
which of the following ?

(A) ADR
(B) SDR
(C) GDR
(D) ADR and GDR

In the inclusive growth program of
the 11th Five Year Plan of India,
which of the following was not
included ?

(A)
(B)
(®);

Reduction in gender inequality
Strengthening of capital market

Expanding employment

opportunities

(D) Reduction in poverty

39.

40.

41.
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fax =1 Or=n weuid ‘SeR’ (bear) A
T & gfad B ?

(A) gfaqdi=h fema Ul smean
A SRl

(B) g iEach shu-rel i fof AaeR

OYRE 3R 3T ekl

(C) gfayd=n feaa Iavar=t sTaen
A SRl

(D) THEYM g W BRET HIOIEES st
FHIGUIATE o351 ST ekt

Greftetisht S Fe= hiog 2
(A) ADR
(B) SDR
(C) GDR

(D) ADR 9 GDR

AT SThUSAT THIGYh et

ST TR ETeTadsh]  hme

TR TE ?
(A) fam faumaa ==

(B) vieddd SIS HeTHIehIu]
(C) YR Fefi=n faer

(D) TIRET gHONd o
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42.

43.

44.

When the RBI raises the Cash

Reserve Ratio, it implies that :

(A) The RBI shall have less money

to lend

(B) The commercial banks shall

have less money to lend

(©)

The union government shall

have less money to lend

(D) The government shall print less

money

There are 25 students in a class.
In the paper of Economics each
one has secured 49 marks. What
is the value of standard deviation

in this case ?
(A) /5
(B) 5/7
(C) one
(D) zero

The mean and variance of a

Binomial distribution is equal to :

(A) \Jnp, npq
B) Jnpq, n?p?
(C) \/nzp’\/n2p2q2

(D) np, npq

42.

43.

44.
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Rerd shehgd Siegl T@ TEE TUIRN

91 hell SId dedl :

(A) Hiies <o RErd dhae T4
oot @l

(B) &elis: S0 AN Shihe A
T fyecss Wl

(C) el 0T hg THRHS HHT U
IHGYE IR

(D) TR HH T TEO B

Tehl ofiq 25 faened afed, stefemest =1
foemmren geulehne) ge faenea
49 U UTW hol 3TRd. of9N feerdid
I faae e Hod Seiierieh! hiod
E

(A) /5

(B) 5/7
(C) T=

D) =

fouel foauom= R onfor = qed
reicyaR! IO ?

(&) np, npq
B) /npq, n%p?
(C) \/nzp’\/n2p2q2

(D) np, npq
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45. In case of Normal Distribution mean | 45 wH=I faaume #@ed (X), sga® (Mo)
(X), mode (Mo) and Median (M) are 71T Te (M) Il Heie Weiierdehl
related as follows : R
(A) Mo >X >M

(A) Mo >X>M
(B) Mo < X <M

(B) Mo <X <M
(C) Mo =X=M
D) X < Mo < M €) Mo = X =M

46. Suppose it is calculated that the (D) X < Mo <M
intercept-a is 4 and the slope-b is | 46, e, TH wAd e TG T T
2 for a particular estimating line TR TS SRR —q 4 SO Y
Wit}.l one independ'ent variable. If SR 2 3 S — E
the independent variable has a value . )
of 2, what value should be expected T 2 ST, SFafar e STuferd
for the dependent variable ? qed M SFHA 7
(A) 8 (A) 8
(B) 10 (B) 10
© -1 ©) -1
D
D0 (D) 0

47. A Chi-square value can never be - e
negative because : 47. ﬁ R A HT ST AR

, hIXUT

(A) Difference between expected
and observed frequencies are (A) sTafera smftr Fifara aRanRarqeie
squared. qRrEd=T o7 Saen Sl

(B) A negative value would mean (B) W Y e, Frifer aranfam
that the ob.served frequencies T T A e o A
were negative.

(C) The absolute value of the (C) TwTAT=l FRAE qed Frec
differences is computed. ST

(D) It has symmetrical distribution. (D) = foaator §HiHd 319
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48.

49.

50.

Laspeyres Index has :
(A) upward bias

(B) downward bias

(C) no bias

(D) variations in weights

Which of the following is not the

advantage of sampling ?
(A) saving time

(B) saving cost

(©)

creating a normative order for

population parameters

(D) having estimates for population

parameters

How many years of data one can use
for a 3 year moving average for a

total period of 10 years ?
(A) 10
B) 9
C) 8

D) 7

48.

49.

50.

NOV -11211/11

o~

(FQRllenledl 2

TR
(A) vt I TR
(B) SaXdl STt oM

(C) =i IR e

(D) SedAd sk 3TRd

qEIcTdeh] HIUMAT THAT =TAU=T @Td
M ?

(A) des ardfao

(B) =@ dr=Iaul

(C) TS YA JHIIERTIHR]

HH TIR HO

(D) HaATIHR UTEAMES 3TeST hig)

10 Iui= THY FHAEHHERE  3-T64

Thdl GUEY wTearn, fedl aef=

SThSAR! aATRAl g ?
(A) 10
B) 9
C) 8

D) 7
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